Material de apoio - Exercicios — Derivadas - Respostas

a ) Respostas

Sl fla)=xt fla)E -

9 ;
g'(x): x—zg'(x): 3x g'(x): 0 g'(x): 0 g'(x): 9 g'(x)— - 13x7 ™
g'(x) = 8x g’(x) -x g'(x) =3%"In3 g'(x) = 4% n4 g'(x) = 100" In100
g'(x) = %.10" n10 g'(x) e f'(x) = 88x" f'(x) = -7x°
f’(x) =1+ 6x f’(x) = 10x + 5x° f’(x) =3x7+2x +1
f’(x) = 2nx"! f’(x) = 8x + cosx f’(x) = 3x7 - 6x+3
f'(x)= -1+ cosx+ senx f’(x)= a- 4x’ f’(x)= 32x* - 3% In3
f’(x) = -senx-e f’(x) =3x’ - 4" In4 f'(x) =20x°-9
f’(x) =5"In5+ e" + cosx
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f'(x) = (-2x- l)sen(xz * X) f'(x) = 2xcos(x2)

(%)= cotg(x) £1(x) = 18322 + 1

f'(x) = -3sen(3x) f'(x) - xzzf 3

S'(x) = 3¢ £'(x) = cos(x).e**

g'(x) = - sen(x).cos(cosx) g'(x) SR sen(e )

g'(x)= -5¢ g'(x) = sec(x).etg(")

g'f) = 8t(t2 ¥ 3)3 g'(x) = 3sec(3x).1g(3x)

g'(x)= - 2xcossecz(x2) g'(x) = - 2cossec(2x] cot g(2x)
(

- (e e Wers e

x) = secz(x).sec(tgx)-fg(tgx) 2%+ 2e*
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¢) Respostas

g'lx] g'lx]
g'lx) = x g'lx]
g'(x) = xzex(3+ x) g'(x) = 2x+ 2¢*
g'lx)=e g'lx]
g() X g()ZSxex(2+x)
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File)= -2
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f’(x) .- 2x-1 :
(x2 + x+ 1)

' - -2
/ (X) (x- 1)2

qy. 23
/ (x (3x+ 2)2

) = . 27x%+ 12x+ 70
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d ) Respostas
g'(x)= 23* I3+ 3
g'(x) = -2xe "+t 2x2+ 1
g'(x)= -e+ 207
g'(x)= 2x2" In2+ 2.3*.In3
g'(x) = - senx.(3+ cosx)x.ln(3+ cosx)
/(%)= (10" + 107" )10
f'(x) = %[sen(@c) + Sen(4x)+ sen(Zx) + 1]
f'(x) = - Sen(X).em” - e sen(ex)
f'(x) z e3x(l+ 3x)
£(x) = 3x%e7(1- x)

' - 2x
f(x) = ln(2x+ 1)+ et
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- Respostas

pl)= 2

b+
) - - 1- 2x- 3x7
f(X) (1+x+x2+x3)
fl)= 20 2

X

, 6x +2
flx): =
, _x2+2x-3
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f'(x) = e"(cos(Zx) - 2sen(2x))
f'(x) = (x+ 2)7(x+ 3)5(14x+ 36)

() - 21x 3/(x+ 1)

f'ix

4x 1t 4
(. Vx
f'x)= e
f'( )_ 3sen (x)cos4(x)- sen (x)
(o) = 3 2
f (x) = glcos (x)- sen (x)]
f'(x) = sen” x
f'(x) = -2sen(x)+ ZSen3(x)
f'(x) = sen’ x



